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s« |.Fill in the blanks-
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€ 1) The slowest mode of transport is|
\
:é (bus, train, bullock cart)
VS
€
e 2) There are modes of transport.
%E: (four, five, three)
Y3
3% _ _
e 3) Besides petrol and diesel, cars and buses
ZE: can also run on| | (PNG,LPG,CNG)
3§
€
€
;ﬁ 4) Only! Jcan run on railway tracks.
:;; (trains, trucks, ships)
Y3

J
:E: 5) Cheapest mode of transport is
¥ . (bus, trains, ship)

3§
ji Il. Find the name of the ten vehicles in the
%'K crossword puzzle.
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;E Aeroplane, Helicopter, Bus, Car, Ship, i
X Motorcycle, Cycle, Boat, Train, Jeep. i
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